Fall protection for Antenna Tower

Item Part No. Description Qry Unit Remark

1 Fall protection for Antenna Tower 1 set (required 13 sets)
1.1 26027 Bottom End Stop,Beaking load 12kN 2 EA

End-stop, top/bottom

* Prevents the fall arrester from
either being inserted incorrectly
or accidentally slipping out of the
guide rail

Complete with all mounting
elements

Material: Stainless steel,
pickled
0.3 kg/each

26027

Weight:
Part no.

1
10]

14804 Rung clamp galv.for d=30mm.

Clamp

« For retrofitting on ladders or step
irons

Complete with all mounting
elements

Support structure and/or wall
mounting must be checked to
ensure sufficient strength

« Suitable for all rung distances

See table
Depends on size
See table

Material:
Weight:
Part no.

Steel, hot-dip galvanised

200

Steel, hot-dip galvanised

Part no.

Stainless steel 1.4571

Part no.

Screw length M12 x 80
for rung diameter - 25 mm

10903

Screw length M12 x 70
for rung diameter - 25 mm

14809

Screw length M12 x 90
for rung diameter 26 - 35 mm

14804

Screw length M12 x 80
for rung diameter 26 - 35 mm

14813

Page 1 of 3

88

EA



Item

1.3

1.4

23724 Foot Rest

Folding footrest

e Complies with DIN 18799

« Complete with all mounting
elements

* Clearance of at least 220 mm
between rungs

* Rung diameter: max. 30 mm

Material: Steel, hot-dip

galvanised
Weight: 4.4 kg/each
Part no. 23724

Stainless steel available upon request

Footrests for climbways with
reinforcement available upon request

20854 Indentification Plate

Identification plate
« For fall protection device -
‘Soll GlideLoc”™ fall protection
systems
e Cover plate assembled in factory
Must be affixed to each access

point
e Languages: D/E/F/ES
Material: Aluminium
Weight: 0.06 kg/each
Part no. 19876 not
engraved
Engraved:
Part no. Guide rail
20854 Steel, hot-dip
galvanised
20855 SFamless steel,
pickled
20850 Anodised aluminium

Description

Honeywell C€0158
BAILLER
Steigachutzennchiung ( Fal Protection system
Al ctusta / Instatacssn anbcoidas
TS EN353-1:2014
Varmnte / || CALMO00IE) || RCALIGO0TSE)
st a000ur) [ Cans000ry)
o Ao B k¢ v e

Lea@ =

e
EN A3 1 0 vmm 0 559 GRoeloc sywenms
B0 N 355.1 g type 806 Gieset oe
U0
EN ST y Gupoutieg G seguciad SO segon EN 3531
Cleatoe

s wmtaena 400 508
Letond e Pow vttty s

1

200

23

186

a7

Page 2 of 3

QTy

20

Unit

EA

EA

Remark



Item Part No. Description QrTy Unit Remark

1.5 15795 Rail Aluminum 1.4 m. 86 EA

Guide rail

+ Forvertical application

« With connector

+ Mounting distance: recommended
1,400 mm - max. 1,680 mm

+ Max. section length 4480 mm

Material. Anodised aluminium
Profile 52 x33 mm

Weight: Approx. 1.6 kg/m

Part no. FS-SAL<rail length in mm>

140

33
= = 1 oo 0 O

25|50

2 274441 Body Control Fall Arrester - lock into the rail 10 EA

Comply with EN 353-1:2014

So6ll BodyControl fall arresters
Arrests in all fall situations: back-
and downwards

BodyControl | for climbing close to
the ladder.

BodyControl Il for climbing while
leaning back

With energy-absorbing element
Triple action swivel karabiner
Aluminium body, stainless steel
safety catch

Soll BodyControl I: sternal
connection (left figure)

Weight: 0.97 kg/each
Part no. 27441

Soll BodyControl lI: sternal and

ventral connection (right figure)

« Textile strap for connection to
sternal harness attachment point

Weight: 1.07 kg/each

Part no. 27440

Page 3 of 3



